Reasoning

Seating Arrangement

Direction(1-3):Study the following information carefully and answer the
guestions given below.

A certain number of persons are sitting in a row facing north. D sits fourth to the left of L.
Only two persons sit between D and B. K sits second to the left of B. H sits fourth to the
right of L. Not more than five persons sit between G and B. G sits to the right of H. Only
three persons sit to the left of K.

Dire%%?(ls):ﬁmﬁ SHGRI &1 SATYdD 37eqa Hiford 3R e 3T T usii &
[CA K |
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1)Which of the following statement is true?

1fRgffed 7 @ ®F 91 Y7 I 82

1. L sits at an extreme end

L SifdA SR W18

2. Only one person sits between D and K

D 3R K & &9 Had U Afad 96718

3. Three persons sit between B and H

B 3R H & &g diF afdd 96 §

4. Ten persons sit between D and H

D 3R H & &9 <g =ufad 96 &

5. None is true

PE MIT TR

Solution:From the given statements, D sits fourth to the left of L. H sits fourth to the
right of L. Only two persons sit between D and B. So, there are two possible cases:

L1 | L Ll
1 1 Casel

| |
I
D B L H
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B D L H

K sits second to the left of B. Not more than five pérsons sit between G and B. G sits to
the right of H. So, case-2 is eliminated. Only three persons sit to the left of K. So, the




final arrangement is:

I
I I
D K B L

2)How many persons are S|tt|ng between L and B?
2)L 3R B & st fpan safad 98 872

1. One
Uh

2. Two

al

3. None

HIE A

4. Three
o

5. More than three

I arfae

Solution:From the given statements, D sits fourth to the left of L. H sits fourth to the
right of L. Only two persons sit between D and B. So, there are two possible cases:

| | | L1 |
T Case 1

| |
I
D B L H

s
—

! Case 2

B D L H )
K sits second to the left of B. Not more than five persons sit between G and B. G sits to
the right of H. So, case-2 is eliminated. Only three persons sit to the left of K. So, the
final arrangement is:




3)If G sits at an extreme end of the row, then how many persons are sitting in the row?

3R G Ufa % 3ifdd BR W Yo7 8, A U B fraa oafad a8 &2

1. Ten
o

2. Twelve
EIRES

3. Thirteen

E

4. Eleven
qRg

5. More than thirteen

RE 9 3iftiep

Solution:From the given statements, D sits fourth to the left of L. H sits fourth to the
right of L. Only two persons sit between D and B. So, there are two possible cases:

L1 LIl
T M Casel

| |
I
D B L H

||||||||.|||!CE|.SE'2

B D L H

K sits second to the left of B. Not more than five pérsons sit between G and B. G sits to
the right of H. So, case-2 is eliminated. Only three persons sit to the left of K. So, the
final arrangement is:

|| || ||
1 1l 1
DK BL H G



Directions

Direction(4-6):Study the following information carefully and answer the
guestions given below.

Suresh leaves his house and starts walking in the north direction. After 10m he turns left.
Then he walks for 5m and turns to his right. He walks for 4m and then takes three
consecutive left turns and walked 9m, 14m and 10m respectively. Finally, he stops at
point T.

Dire%%?m-G):ﬁmﬁ SHGRI BT SATYdD 37eqa Hiford 3R e 3T T usii &
[CA K |

IR 30 TR Y FAHadT § 3R IR =M BT 3R I L= Hra1 || 10 W F 91, 98 a1
gear 31 fohR ag 5 Jerdr 3 o 3o T Sk g1 81 98 4 Hiex Iqa 8 iR R =
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4)How far is Suresh from his starting point?

4 310 RIS foig I fhat g 82

1.5m
5 Ht

2.9m
9 Ht

3.4m
4H

4.14m
14 #Ht

5. 399 q Pis g

Solution:
9m

4m
Sm

14m
10m

Final
10m position

T : Initial position
5m
|

((9+5) — 10) = 4m



5)In which direction is point T with respect to the starting point?

5)IRfYS fog & Tauf o fag 7 fpa fezm # g2

1. West

ufgH

2. South-East

gfamr-gd

3. South

af&or

4. North-West

IAR-UfgH

5. N_one of the§e
ZTH A DS Tal

Solution:
9m

4m
Sm

14m
10m

Final
10m position

1
Initial iti
T lcm nitial position
|

West

6)If Suresh goes 5m south from point T then, what is the direction of Suresh initial
position with respect to his current position?

6)aTe X fofg T ¥ 5 &1 FT 3R 1Al &, < ITb IHH RIF & A A | &
RIS R & = 1 82

1. West

ufgy




2. South-East

gfeorgd
3. South
af&or
4. North-West
IIR-UH
5. N.one of the§e
ZTH A DS Tal
Solution:

9m

4m
Sm
14m
10m
Final
10m position

Initial iti
T :5m nitial position

North-east

coded inequalities

Direction (7 to 10): In each of the questions below are given some statements
followed by two conclusions. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follows
from the given statements disregarding commonly known facts.

Direction : 19 f3U 71T vad® WY A $© HY 3R ISP a1¢ ol fAwwd feg mu §|
3TU! fET 1T HYY Ht T AT €, Hd §) A Jdgrd ol A Fird wedia gia 811 9t
frepul o1 ufeu sk fikr aa Hifor f faw e Aol # @ $19 a1 fFreed wmwm=a v
| 719 a0 $t ragar [H famr fig e Hy= &1 aifbe U A IR Ha1 3|



7) Statements:
Q>R=§;S2T<V;V>B
Conclusion

I: Q>V

II: S=B

DY
Q>R=S;S=2T<V;V>B

l: Q>V
Il: S=B

a) If only conclusion I follows.

fpT | SR T B

b) If only conclusion Il follows.

fepT 11 SR HRaAT B

c) |If either conclusion | or Il follows.

ofe; Tt fseeef 1 7 11 SR R B

d) If neither conclusion I nor Il follows.

gie 7 df fFeepdl | 3R T 81 11 3FIERU HraT |

e) If both conclusions | and Il follow.

fe; fswe | SR 11 QAT SRR Rl B |

Solution:
I: Q>V (False)
Il: S=B (False)

8) Statements:
P<O=K; K=U<W; W>D
Conclusion

[: O=W

II: O=U

HY:

P<0O2K; K=U<W; W>D

[ O=W
II: O=U

a) If only conclusion I follows.

e Had FpY | SR ol |

b) If only conclusion Il follows.

e Had fsHY 11 SFER0 ST 5 |

c) If either conclusion | or Il follows.

g a1 < Fsh | 37 11 SITERO1 =T B



d) If neither conclusion I nor Il follows.

g =1 1 e | SR T 8 11 SR el 8|

e) If both conclusions | and Il follow.

e Freat | 3R 11 QT SIERTT v &

Solution:
I: O=2W (False)
lI: O=U (True)

9) Statements:
X>C>V; VSE<R; R>T
Conclusion

I: X>E

I: V2T

DY

X>C>V; VSE<R; R>T

I: X>E
Il: V=T

a) If only conclusion | follows.

e Had FhY | SR TRl ¢ |

b) If only conclusion Il follows.

e Had FpY (1 SFHRUI HRT |

c) If either conclusion | or Il follows.

e a7 Y fep e | T 11 SR AT B

d) If neither conclusion I nor Il follows.

e 9 Fspd | SR T8 1l SR HRaT |

e) If both conclusions | and Il follow.

g Fps | TR 11 GFT SR Il 6 |

Solution:
I: X>E (False)
IIl: V=T (False)

10) Statements:
S>D<F; F=G=C; C>M
Conclusion



I: F>M

II: S=C

DY

S>D<F; F=G=C; C>M
e

I: F>M
II: S=C

a) If only conclusion I follows.

fpT | SR T B

b) If only conclusion Il follows.

fepT 11 SR HRaAT B

c) If either conclusion | or Il follows.

g a1 <t Fsh | 37 11 STEROT Rl B

d) If neither conclusion I nor Il follows.

gie 7 df fFeepdl | 3R T 81 11 3FIERU HraT |

e) If both conclusions | and Il follow.

g F5pY | 3R 11 SHT SITERUI Bl ¢ |

Solution:
I: F>M (True)
Il: S=C (False)

Blood Relations

Direction (11 to 13) :Study the following information carefully and answer the
given questions.

There are six members in a three-generation family i.e. P, Q, R, S, T and U. Among
them two married couples and only two males. U is the mother in law of Q. P, who is
unmarried and T are siblings. Q’s husband has only one child. R is the father of T.

Direction :Fafifed STH®R! &1 eAMYEa® 10 B 3R AT T U & JWR < |

TS o Uil & URAR # 9% &&= 3Ufd P, Q, R, S, T 3R U ¢ 1 3H ¥ I fdarfed grma
AR PIA A YRUEI U, Q BT AR B | P, Sl Sffdaried & 3R T HE-58-1 &1 Q & Ul 1 baet
TH AdF g R, T &I AT B

11) How is T related to S’s grandmother?



11) T, S 3t IsAR I f$Y UHR Yaiferd g2
a) Son
b) Father
o

C) M.other
Hi

d) Daughter

e) None of these

3T A PIS T

Solution:

U['}

() | (+) )
s

12) Who is the daughter-in-law of P’s father?
12) P & fUd1 &1 9§ &M 82

a) U

b) Q

c) T

d) Cannot be determined

fRuffva 71 fosar o1 gpar

e) None of these

379 A IS e



Solution:

R{f} u['}

() +) ()
P

S )

13) If S is married to V, then how V is related to Q?

13)gfe s, v I faaifed §, @ v, Q ¥ fg R Teifdd 22

a) Father

forar

b) Brother-in-law
Slar-g-dl

c) Son-in-law
alHlq

d) Cousin

EZRE|

e) None of these_
$TH A BIS 61

Solution:




puzzles

Direction(14-18): Study the following information carefully and answer
the given questions.

Some people are living in a building in such a way that only one person
lives in one floor. No floor is vacant. Information for some of themis
given. T lives three floors above W and lives at the second floor from the
top. Two people live between E and S who lives below E . The number of
people live between S and W is same as the number of people live
between S and L. O lives exactly between S and L. E lives adjacent to W.
Y lives three floors below O. Three people live between Y and Q who
lives adjacent to S. A lives two floors below Y and lives at the bottom
floor.

HOUO0OO: HOLHOD0oO0D D00o0ooD o HobDobooooo oboo ta
DO DO boOooooO 00 Hooon oo

LU0 DOOO0O0 DU 00000 00U 00 o000 0o oo oo 0o O
HO000 000 0000 0L DHOoo0d 0o00 00o 0o boooo Dooo ooo
LU0 DOOo0 00 OO 00 00D Dooooo0d 0o 0o 0ed

T, W O OO DO000 000 oo 00 LU 000 DU 00000 boooo O
U000 000 E 0O S 0O E U0 0000 D000 0o, 00 000 00 0000000
HO00 0o0oo S 0w U0 000 Oood 0000 00ooDbooooo oo
HO0000 S 0o L U0 000 D000 0000 Dhoboooooo U 00000o 0o
HO00 00U o, S U LU0 DU 000 UUU U000 00O E, W DD UO00000
HO00 booy, 0 U0 000 DDDO0 000D DU ooy oo @ Ud s 0

HUOOUoL oo U4, 00 0oL o0 oo0obD 000 DotU A Y Lo OO
HUOOd 0ood 0000 Lo U0 0000 000 0o boooo 0o booo ood

14) How many people live in the building?
a) Seventeen

b) Sixteen
c) Eighteen
d) Fifteen



14) 00000 000 00000 0000000 0000 0002
a) 00000
b) (]
¢) 00000
d) D]

Solution: B

1) T lives three floors above W and lives at the second floor from the
top.

2) E lives adjacent to W.

Here, we have two possible cases i.e. Case 1 and Case 2:

Casel Case 2
T T
E
w w
E

3) Two people live between E and S who lives below E.

4) The number of people live between S and W is same as the number of
people live between S and L.

5) O lives exactly between S and L.



Casel Case 2
T T
E
W w
E
S
o]
L S

o]

L

6) Y lives three floors below O.

7) Three people live between Y and Q who lives adjacent to S.
Here, Case 1 gets eliminated.

8) A lives two floors below Y and lives at the bottom floor.
Here, we have the final arrangement:

A

Clearly, sixteen people live in the building.

15) Who amongst the following lives five floors above A?
a) S
b) O
c) E
d) Q



15)0000000000 000 00 000 A 00 0000 00000 000 D000 0d?
a) S
b) O
c) E
d) Q

Solution: B

1) T lives three floors above W and lives at the second floor from the
top.

2) E lives adjacent to W.

Here, we have two possible cases i.e. Case 1 and Case 2:

Casel Case 2
T T
E
w w
E

3) Two people live between E and S who lives below E.

4) The number of people live between S and W is same as the number of
people live between S and L.

5) O lives exactly between S and L.

Case 1 Case 2
T T
E
W w
E
S
Q
L S
o}
L

6) Y lives three floors below O.
7) Three people live between Y and Q who lives adjacent to S.



Here, Case 1 gets eliminated.
8) A lives two floors below Y and lives at the bottom floor.
Here, we have the final arrangement:

Y

A

Clearly, O lives five floors above A.

16) How many people live above Q?
a) Eight
b) Seven
c) Nine
d) Ten

16)Q 0 000 DO00O0 0000000 0000 0OO?
a) [0
b) (1]
c) 10
d) (1]

Solution: C

1) T lives three floors above W and lives at the second floor from the
top.

2) E lives adjacent to W.



Here, we have two possible cases i.e. Case 1 and Case 2:

Casel

Case 2

T

T

E
W W
E

3) Two people live between E and S who lives below E.

4) The number of people live between S and W is same as the number of
people live between S and L.

5) O lives exactly between S and L.

Case 1l Case 2
T T
E
w w
E
S
o]
L 5
(o]
L

6) Y lives three floors below O.

7) Three people live between Y and Q who lives adjacent to S.
Here, Case 1 gets eliminated.

8) A lives two floors below Y and lives at the bottom floor.
Here, we have the final arrangement:



Y

A

Clearly, nine people live above Q.

17) If X lives two floors above S then how many people live between X
and Y?

a) Seven

b) Five

c) Six

d) Eight

17)000 X, S 00 00 00000 000 0000 00, 00 X 00 Y 00 000 000
00000 0000000 0000 000?

a) [0

b) [

c) 10

d) (1]

Solution: C

1) T lives three floors above W and lives at the second floor from the
top.

2) E lives adjacent to W.

Here, we have two possible cases i.e. Case 1 and Case 2:



Case 1 Case 2

w W
E

3) Two people live between E and S who lives below E.

4) The number of people live between S and W is same as the number of
people live between S and L.

5) O lives exactly between S and L.

Case 1 Case 2
T T
E
W W
E
S
o
L S
0]
L

6) Y lives three floors below O.

7) Three people live between Y and Q who lives adjacent to S.
Here, Case 1 gets eliminated.

8) A lives two floors below Y and lives at the bottom floor.
Here, we have the final arrangement:



A

If X lives two floors above S:

A

Clearly, six people live between X and Y.

18) What is the position of T with respect to O?
a) Eight floors above
b) Six floors above
c) Seven floors above
d) Nine floors above

18)0 0 DO00OD DOO T 00 DOO0 00000 0O?



a) 00O 00000 00O
b) 00 00000 000
c) 000 00000 000
d) 00 00000 00O

Solution: D

1) T lives three floors above W and lives at the second floor from the
top.

2) E lives adjacent to W.

Here, we have two possible cases i.e. Case 1 and Case 2:

Casel Case 2
T T
E
w W
E

3) Two people live between E and S who lives below E.

4) The number of people live between S and W is same as the number of
people live between S and L.

5) O lives exactly between S and L.

Case 1l Case 2
T T
E
W w
E
S
0
L S
(o]
L

6) Y lives three floors below O.

7) Three people live between Y and Q who lives adjacent to S.
Here, Case 1 gets eliminated.

8) A lives two floors below Y and lives at the bottom floor.
Here, we have the final arrangement:



A

Clearly, T lives nine floors above O.

Seating Arrangement

Q.19-23 study the following information carefully and answer the questions given

below:

Eight personsi.e., P, Q,R, S, T, U, V and W are sitting around a square table. Four
persons are sitting around the corner of table and are facing towards the centre of the
table while four persons are sitting around the middle side of the table and are facing
away from the centre of table. Q sits second to the right of V. One person sits between Q
and R. Two persons sit between R and W. P sits to the immediate left of S. One person
sits between S and T. T does not sit next to V. U does not face away from the centre of
table and do not sits next to P.

fafied SMeR! &1 eMYad e Sifo’ 3R =i fau T usil & IR Sifor:

36 afad 3ufd P, Q, R, S, T, U, V 3R W T TTfbR AW & IRI 3R 9 § | IR afad A
& DI P TR 3R IS § 3R ST b Bg bl 3R I W § oldih IR Hfad Aol & qH YT &
IR RIS B SR AT P $Hg J IR B AR IHI 81 Q, VP e Y g ’F W I35 Q
R R & T TH Afdd 931 8| R AR W & o9 gl Afdd 98 81 P, S & 31 91 3R 9378
SR TH I TS AT ISR T, VEH e AT o181 U, B & Pg I d16R Bl 3R
IE T8I & 3R I8 P & AT WM R T8l 937 2|

Who among the following faces W?

fFoffed 9 e w 3T ok 39 52
a. T

b. U



d Q
e. None ofthese.
ST Y PIs el

Solution:From the given conditions, Q sits second to the right of V. One person sits
between Q and R. here there are two cases possible i.e., casel and case2.

Case 1 Cace 7

\'
| |
Q
| |
2 . Nz
R
Two persons sit between R and W. P sits to the immediate left of S. One person sits

between S and T. T does not sit next to V. here there are two more cases possible i.e.,
casel.a and case 2a.

Q

Case 1 Caco 7
N N
| |
w S P Q
: |
V3 U3
Q T R S R T
Case la Case Za
w v
Vv ¢ P /h w
| |
S P Q
: |
NV v T
Q T R S R

U does not face away from the centre of table and do not sits next to P. here case 1,



Case la and case 2a gets eliminated. So, the final solution is-

w /‘"L U
| j
F{ Q
l
s 4 2

V?/hzooamong the following sits to the immediate right of V?
fafad # 4 ®H v & 3% - 981 82

a Q

b.

c. R

d T

e. Non‘e of these ‘
TTHADE T

Solution:From the given conditions, Q sits second to the right of V. One person sits between Q and R.
here there are two cases possible i.e., casel and case2.

Case 1 Case 2
\'
A 1\ T
| |

Two persons sit between R and W. P sits to the immediate left of S. One person sits between Sand T. T
does not sit next to V. here there are two more cases possible i.e., casel.a and case 2a.



Case 1 Case 2

\'4
T
Q
| |
T Y T
Case la Case 2a
\'
N w
|
V \L’ T
R

U does not face away from the centre of table and do not sits next to P. here case 1, Case la and case 2a
gets eliminated. So, the final solution is-

Q.21 The number of persons sitting between W and T, when counted from the left of T
is same as the number of persons sitting between U and , When counted from the

right of ?

T a0 A AR TR, W 3R T & i 96 AfRTal $1I=, o & o 3R J A1 S
8, AUSR & S S ufaddl &) eI & JHH 872

a. Q
b. U




c. S

d. P

e. None ofthese.
TTH A DS Tal

Solution:From the given conditions, Q sits second to the right of V. One person sits
between Q and R. here there are two cases possible i.e., casel and case2.

Case 1 Caca 7

S R

Two persons sit between R and W. P sits to the immediate left of S. One person sits
between S and T. T does not sit next to V. here there are two more cases possible i.e.,
casel.a and case 2a.

Case 1 Case 2
v p w v
N N
| |
w S P Q
: |
A\ YV
Q T R 5 R T
Case 1a Case Za
w '
v ¢ P ¢ w
| |
5 P Q
: |
U Vg T
Q T R S R

U does not face away from the centre of table and do not sits next to P. here case 1,



Case la and case 2a gets eliminated. So, the final solution is-
w Vv
N v
|
P Q
1
Vg
s R T

Q.22

Who among the following faces away from the centre of the table?

fFrafRad § 9 B A9 & bg I T1eR I 3R IHE 82
a. W
b. U
c. T

d O

e. None of these
TH A BIs To!
Solution:From the given conditions, Q sits second to the right of V. One person sits

between Q and R. here there are two cases possible i.e., casel and case2.
Case 1 Case 2

SN R

Two persons sit between R and W. P sits to the immediate left of S. One person sits
between S and T. T does not sit next to V. here there are two more cases possible i.e.,
casel.a and case 2a.




Case 1 Case 2

v
P w
an
|
S P Q
: |
AU Vg
T R S R T
Case la Case 2Za
v
P ¢ w
|
5 P Q
$
R S . T

U does not face away from the centre of table and do not sits next to P. here case 1,
Case la and case 2a gets eliminated. So, the final solution is-

w ";\ U
|
F% ‘%Q
l
s \:: T
Q.23

Four of the following are alike in a certain way and hence they form a group. Which one
of the following does not belong to that group?

fofafad # 9§ IR te FA¥d UeR I Ue 99F § iR 39T 3 U wHg a1 § | Fafufed
Y HH IS 3 g Tefdd 81 82

a. P



d. R
e. T

Solution:From the given conditions, Q sits second to the right of V. One person sits
between Q and R. here there are two cases possible i.e., casel and case2.

Case 1 Caza 7

. v

N N
| |

Q

| ]
1

S Y W v

Two persons sit between R and W. P sits to the immediate left of S. One person sits
between S and T. T does not sit next to V. here there are two more cases possible i.e.,
casel.a and case 2a.

Case 1l Caco 7

\'4

‘ b ™

w S P Q
: |
Q Y R S \;: T
Case 1a Case 2a
w




U does not face away from the centre of table and do not sits next to P. here case 1,
Case la and case 2a gets eliminated. So, the final solution is-

w ,; u
) "L
P >Q
by
S R T
24)

If in the number 67459138, 3 is subtracted to first
each of the five digit of the number and 1 is added
to rest of the digits then how many digits are
repeating in the number thus formed?

a.Four

b.One

c.None

d.Three

e.Two



24) gfc BT 67459138 H, TWAT & Ugdl Uid 3l A
I 3 YT SITaT § iR QY 3t |
1 SNST 91T 5, af s (fHd T | fobd 3idh! &l

YRIgHT gt

1. dRR

2. Uh

3. PIg T8l
4. dH

5. &l

Solution:Original number- 67459138
Obtained number- 34126249

Coding & Decoding

Direction(25-27):Study the following information carefully and answer the
guestions given below.

In a certain code language

‘Mango is very tasty’ is written as ‘la ja ta sa’,

‘Mango is a fruit’ is written as ‘ja sa op nm’

‘Apple is tasty’ is written as ‘sa ty ta’.

%ction:ﬁgﬁ@ﬁﬂﬂﬁﬁﬁ%@&%ﬁﬁﬁﬁ?%ﬁﬂﬂﬂ%ﬁ%w
I

T [igd gy

‘Mango is very tasty’ Pl ‘la jatasa’ %Wﬁﬁf]@\‘ﬂ?ﬂ%,



‘Mango is a fruit’ &I ‘ja sa op nm’ & ¥ ¥ foraT ST g
‘Apple is tasty’ Pl ‘sa ty ta’ & ¥U H ferar 9T g |

25)Which of the following represents the code for “apple™?

25)fafifad # ¥ & ‘apple’ & T we &1 ufafafa w=ar g2

1l.sa

2.ty

3.ta

4. ja

5. None of these

ST Y DIs 8l

Solution:
Word Code
Mango ja
Is sa
Tasty ta
Apple ty
Very la
a/fruit op/nm

26)How is ‘fruit’ coded in the given language?

26)S1 TS UTNT H ' fruit’ &1 fohd UHR FHeag [l T 52
1.ja

2.sa

3. op

4.nm

5. Cannot be determined

fuffva 71 fosar s gpar



Solution:

Word Code
Mango ja

Is sa
Tasty ta
Apple ty
Very la
a,/fruit op/nm

27)How is ‘tasty’ coded in the given language?

27)} T8 TS H 'tasty’ &1 fhd UHR Heds [6dl T g2

1. la

2. ja

3.5a

4. ta

5. Cannot I_ae determined

feutia Tt foar o T&ar

Solution:
Word Code
Mango ja
Is sa
Tasty ta
Apple ty
Very la
a/fruit op/nm

Problems on Digits



28)If in the number “1234567894”, positions of the first and the second digits are
interchanged, positions of the third and fourth digits are interchanged and so on till the
positions of 9th and 10th digits are interchanged, then which digit will be 5th from the left
end?

28)Tfe WS "1234567894" H, UEA 3R GIR 3 & W 309 H 9af 3T o1 &, TR
3R A 3ich & RIM MUY & §ad 4T I § 3R S UHR ofd adb 99 3R 109 3l &
RIF T0Y H 95 fou 1 §, a1 S 1 3i a8 SR ¥ 5a1 g2

1.7

2.1

3.3

4.9

5. None of these

3T 9 BIg Tl
1234567894

Solution: 2143658749

Syllogism

Q.29-31 In each of the questions below are given some statements followed by two conclusions.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

4 o 7T S Uy ° O HUF 3R IqF 91 ) fwd 2w mu F | Sy AT T Hyl B g AT
2, Ha € 3 Tdyra gt A fis wdid gia g8t 1 3t et 31 ud i fhr au o 7% fow e fspuf &' &
ﬁgﬁw&mwﬁmmﬁaﬁmﬁwmﬁmmw$ﬁwaﬁmwﬁm
PaT gl

Statements:
DY
Only a few Apple are Orange.
&I $© TTA 3N §
Only a Few Grapes are Papaya.
Had $3 TUY TUET §
No Orange is papaya.

S g el &
Conclusion: fAsa:
I.Some Apple are not grapes
$S T T09 81 §

Il. Some grapes are not Orange



a. If only conclusion | follows.

Ife Fad fFswY | 3TERI TR 3|

b. If only conclusion Il follows.

i Fad FswY 1| STERr IR B

c. If either conclusion | or Il follows.

e a1t A | 1 11 STERY FRaT &

d. If neither conclusion | nor Il follows.

gfe T A e | 3R A 8 11 SRR HRT B

e. If both conclusions | and Il follow.

e FIpy | 3R 11 ST SRR IRd B

Solution:

Q.30

Statements:

DY:

Only a few Wrong are True.
$Iq PV I

All True is False.

gl B §

Some False are Correct

$S BRI DA §

Conclusion:

e

I. All Wrong being false is a possibility
it T & BT B Pt TR §
Il. Some Correct are True

T B T 8

a. If only conclusion I follows.

e Had FpY | SR ol |

b. If only conclusion Il follows.

e Had FpY (1 SR HRT B

c. If either conclusion I or Il follows.

g a1 < Fsh | 37 11 SITERO1 =T B



d. If neither conclusion | nor Il follows.

g =1 1 e | SR T 8 11 SR el 8|

e. If both conclusions | and Il follow.

e Freat | 3R 11 QT SIERTT v &

Solution:

Q.31

Statements:

DY:

Only Chair is Table.
Had JWR eI ©
Some Chair are Office.
$S IR AT §

All Office is Town

gt 3iiftp g ers §
Conclusion:

|I. Some Town are Table
$S T3 ¢dd §
Il. Some Office are Table

F3 Ay ¢ad §
a. If only conclusion | follows.

e Had FhY | SR a8 |

b. If only conclusion Il follows.

e Had FpY (1 SFURUI HRT B

c. If either conclusion | or Il follows.

g a1 < Fsh T | 37 11 SITERO1 =T &

d. If neither conclusion | nor Il follows.

gfe 9 o Fspd | 3R T & 11 SR HRaT

e. If both conclusions | and Il follow.

e fspY | 3R 11 SHT SRR Rl & |



Solution:

Blood Relations

Direction(32-34): Study the following data carefully and answer the questions accordingly.
Only one child of AZ and BZ is unmarried. CZ has only two children. BZ is the mother of CZ,
who is the only sister of GZ and HZ. 1Z is the son of HZ. DZ is the father of EZ. GZ is the
uncle of EZ, who is the sister of FZ. BZ and AZ are married couples.

frdwr: FofalRed IHER &1 eaFyd® 31era- & 3R dgaR
U= o IR G|

AZ 3R BZ &1 Had T JaH 3fadifed g1 CZ &1 Had gl IdM
81 BZ, CZ P Al 8, SN GZ 3R HZ B! THHF §8 g1 1Z, HZ BT
TF gl DZ, EZ & U181 GZ, EZ & ATa1 &, S FZ &1 98

21 BZ 3R Az faarfed oS &1

32)How is GZ related to BZ?

a) Uncle

b) Nephew

c) Brother

d) Son

e) None of these

32)Gz, Bz Y frg yeR T&fdd g2
a) dIdl
HEGIS
c) HI%
d) 9



e) 379 I P gl

Solution:

1) Only one child of AZ and BZ is unmarried.

2) BZ is the mother of CZ, who is the only sister of GZ and HZ.
3) CZ has only two children.

4) 1Z is the son of HZ.

5) GZ is the uncle of EZ, who is the sister of FZ.

6) DZ is the father of EZ.

BZ H%E (+)

.

Dz{+}_,?cfzz{-} éz{ﬂ .II:I‘Z{+]I
£7 (-)— Fz 1Z (+)

Therefore, GZ is the son of BZ.

33)How is FZ related to AZ?
a) Daughter
b) Son
c) Grand daughter
d) Grandson
e) Cannot be determined

33)FZ, AZ T {9 YR Tefed g2

a) Tl
b) T



c)tﬁ?ﬁ
d) T
e) Feiia gY fosar <1 o

Solution:

1) Only one child of AZ and BZ is unmarried.

2) BZ is the mother of CZ, who is the only sister of GZ and HZ.
3) CZ has only two children.

4) 1Z is the son of HZ.

5) GZ is the uncle of EZ, who is the sister of FZ.

6) DZ is the father of EZ.

BZ "37"7._—"“-..’;'2 (+)

o
.

DZ{+}—,?C£{-} éz{ﬂ AZ (+)
€7 (-)— Fz IZ (+)

Therefore, as gender of FZ is unknown, we can’t answer the question.

34)If QZ is the wife of HZ, then QZ is related to BZ as-
a) Daughter
b) Daughter-in-law
c) Sister
d) Niece
e) None of these



32)Tf¢ QZ, HZ B Ul 8, a1 QZ, BZ ¥ fr T UpR Tafdd 5|

a) Tt

b) dg

c) dgd

d) Htsit

e) 370 Y HIs gl

Solution:

1) Only one child of AZ and BZ is unmarried.

2) BZ is the mother of CZ, who is the only sister of GZ and HZ.
3) CZ has only two children.

4) 1Z is the son of HZ.

5) GZ is the uncle of EZ, who is the sister of FZ.

6) DZ is the father of EZ.

BZ "37"7._—"“-..’;'2 (+)

=,
—
e
o

DZ {+}_,?cf—:z (-} &z (+) > (+)
E:'r_:{—}— Fz IZ (+)

Therefore, If QZ is the wife of HZ, then QZ is the daughter-in-law of BZ.

Problems on Alphabets

35)How many such pairs of letters are there in the word ‘Turmeric’ each of which has
as many letters between them in the word as in the English alphabet (Both forward
and backward)?

a) Nil

b) One

c) Two

d) Three

e) None of these



35)Turmeric’ Wﬁﬁ@mﬁ{{‘ﬂ% ST A Ud® H Y &b
gﬁaeﬂﬁﬁ 31&R g Fora 3ol guiAter & (M 3R Ui S 8iR)
?
a) P13 -Te!
b) Y
c)ﬁ

d) di=
e) TR J HIS e

Solution:

Letters in the word | Letters in the alphabet
Forward TURMERIC TUuv
Backward | TURMERIC TSR

There are 2 pairs.

Seating Arrangement

Direction (36 to 40): Study the given information carefully and answer the
given questions.

Eight persons P, Q, R, S, T, U, W and V are sitting around a circular table facing outside
the centre but not necessarily in the same order. R does not sit opposite to W. Two
persons sit between P and T. W sits second to the right of T. Both Q and S are sitting
opposite to each other. Both W and Q are not adjacent to each other. V sits immediate
left of P.

Direction : €} 718 SM®RI &1 FYdd LT HIfoR 3R 3T 18 vt & IR R |
M AP, Q,R, S, T, U, W 3R V TF TAIHR T & TR} 3R g% J F1ER P 3R 3T
BIHR IS § Qb MTaRTH gl ST A AGI R, W b fARId T8l s61 8| P AR TH S ot
RIS EIW, TH U I TR VAR IBTE1 Q 3R S HI T g & [AWRa IS 1w
3R Q T Uh U & MIA Tl g1 V, P & o1 a1 dol 7



36) How many persons are sitting between Q and R when counted right from Q?

36) Q T giff IR T A R Q 3R R & Hey fobeA ufdd 9 &2

a) None

DI el

b) Four
IR

c) Five
LI

d) Three
1G]

e) One

Th

Solution:
From the given statements, two persons sit between P and T from here we have two
cases i.e., case 1 and case 2. W sits second to the right of T. Both Q and S are sitting

opposite to each other. Both W and Q are not adjacent to each other.
Casel Case ?

“F T

W
P P
V sits immediate left of P and from here our case 2 get eliminated and we have case 1.
R does not sit opposite to W. So, the final arrangement is-

R
T



37) Who among the following person is an immediate neighbour of W and V?

37) gl # T o 31 sfed w 3R v &1 Fidbedy Usi™l 82

d Q
e) T

Solution:
From the given statements, two persons sit between P and T from here we have two
cases i.e., case 1 and case 2. W sits second to the right of T. Both Q and S are sitting

opposite to each other. Both W and Q are not adjacent to each other.
Casel Case 2

T
“F T
QQS Q‘Q‘S
“F
P P

V sits immediate left of P and from here our case 2 get eliminated and we have case 1.
R does not sit opposite to W. So, the final arrangement is-

R
T

38) Who among the following person sits third to the left of V?

38) FUfIR{T A A D v & TR T RN RIM IR 9371872



a) W

b) S

Solution:
From the given statements, two persons sit between P and T from here we have two
cases i.e., case 1 and case 2. W sits second to the right of T. Both Q and S are sitting

opposite to each other. Both W and Q are not adjacent to each other.
Casel Casa ?

T
WF T
Q@AS Q{;‘s
w
P P

V sits immediate left of P and from here our case 2 get eliminated and we have case 1.
R does not sit opposite to W. So, the final arrangement is-

R
T

39) Who among the following person sits opposite to R?

39) Fgffad & 9 &9 R & faudid 96187



d) W

e) None of these.
TH A DIS Q!

Solution:
From the given statements, two persons sit between P and T from here we have two
cases i.e., case 1 and case 2. W sits second to the right of T. Both Q and S are sitting
opposite to each other. Both W and Q are not adjacent to each other.

Casel Case 2

“F T

W
P P

V sits immediate left of P and from here our case 2 get eliminated and we have case 1.
R does not sit opposite to W. So, the final arrangement is-

R
T

40) If S is related to P, and W is related to V, then in the same manner who among the
following is related to R?

4_02’17%%8, P ¥ efid 8, 3R w, v ¥ et &, 0 S yobR Fafafed A 4 s R 9

a) S
b) Q

c) U



d P
e) W

Solution:
From the given statements, two persons sit between P and T from here we have two

cases i.e., case 1 and case 2. W sits second to the right of T. Both Q and S are sitting

opposite to each other. Both W and Q are not adjacent to each other.
Casel Case 2

W
P P
V sits immediate left of P and from here our case 2 get eliminated and we have case 1.
R does not sit opposite to W. So, the final arrangement is-

R
T

Numerical ability

Data interpritation

Q.41-45 Bar graph given below shows number of people watching movie in
five different halls of a multiplex. Read the data carefully and answer the

guestions.

R 3 T IR WP TP AW & Ui -3 gid | gdl ¢ ard
fwal B W1 B S=ATaT 31 32T Y &4 | ufey 3R uel & I v/



35

30

5
20
1
1
0
A B C D E

Total number of people in hall E are what percent less than total number of people in
hall A?

g1d E § safaaal & o Ta, g1 A B afaddl & oo e § fpan ufawd &1 872

%3]

=]

[¥3]

5%
e.

Solution:

: 26-33
Required percentage = v = 100
=2 —gi
=28 X 100 =18 3 %

Q.42



Find average number of people in hall A, C & E together?

BId A, C 3R E T THTY SAfaadl &I 3INId WReAT J1d Pifore?
a. 32
b. 30
c. 36
d. 33
e. 27

Solution:

: I6+27+33
Required average =

3

=32

Q.43 Find the ratio of total number of people in hall B to that of in hall D?

gld B T Hfdadl &t ol e &1 glct D T Hfaadl bt el TReT H 3UTd ATd Diford?

a. 7:9

b. 9:10
c. 11:9
d. 9:13
e. 9:11

Solution:
Required ratio=18:22=9:11

Q.44

Total number of people in hall C and E together are what percent more than total
number of people in hall A?

81 C 3R E # Uohury Afaqdl &1 oo I, 8id A H afaad) o $o Ie I favan
gfaerd 31fies g7

1
a 33 el



2
b. 66 3 70
1
66 3%

d. 50%

60%
e.

Solution:
Total people in hall Cand E=27 + 33 =60

al—36 % 100
36

Required percentage =

=2 = 662
—SEXIDG 663%

Q.45

Find total number of people in hall B, C & D together?

g1 B, C 3R D H frare sufdadl ot o) Team 1d Pifoe?

a. 69

b. 65
c. 67
d. 63
e. 71

Solution:
Required number of people= 18 + 27 + 22 = 67



Number series

Q.46-50 what will come in the place of question (?) mark in following number
series:

Frafafaa e ga@ar § ugfug (7) & RIM IR T S
24,24, 48, 144, 2, 2880

a. 512

b. 576

c. 598

d. 612
e. 636

Solution:
Pattern of series -

24 X1 =124

24 X2 =48

48 X 3 = 144
?7=144 x4 =576
576 x5 = 2880

Q.47

32,33.8,37.4,44.6,59, ?
a. 81.8
b. 83.8
c. 89.8
d. 85.8

e. 87.8



Solution:

Pattern of series -
32+1.8=338
338+36=374
374 +7.2=4406
446+ 14.4=59
?7=59+ 28.8=87.8

Q.48
12,7, 8, 13, ?, 68.5

a. 28

b. 27

c. 26

d. 27.5

e. 26.5
Solution:
Pattern of series -
12x05+1=7
7x1+1=8
8x15+1=13

1T=13 X2+ 1=27
27 %25+ 1=685

Q.49
72,81,63,99,7, 171
a. 36
b. 31
c. 37
d. 27

e. 35



Solution:

Pattern of series -
72+9=81
81-18=63

63 +36=99
?7=99-72=27
27+ 144 =171

Q.50

8,9, 19, 58, 233, ?

a. 1164

b. 1166

c. 1156

d. 1152

e. 1158
Solution:
Pattern of series -
gx14+1=9
9x2+1=19
19x3+1=258

38X4+1=233
233 X5+ 1=1166

Simplification and Approximation

Direction(51-55):What approximate value should come in place of the question mark
(?) in the following questions?

Direction(51-55):fAafaRad udi O usiferg (?) & RIM TR T fba1 AF S A1fge?

51)



(20.02)2 + (7.93)2 x 15.97 = ?
1.90

2.100

3.115

4. 85

5.80

Solution:

7R 20% - 8% x 16

400
R—Xx 16
64

A2 100

52)
32.12% of 249.901 + 59.98% of 499.95 =?
1.380
2.400
3.420
4. 360
5.410
Solution:
32 &0
7R —x 250+ — x 500
100

100
80 + 300

380
53)

[y
Tt
[t
Ea=

V( &483.98)x7.93-151.04= ?
1.32
2.22

3.25



4.30

5.20

Solution:

? A 4484 % 8 — 151
M 22x8—151

R 176 -151
25

54)
(13.1)* — (2.1)* — 39.97 =?*
1.2

2.5

3.3

4.4

5.6

Solution:

728 13% — 2% — 40

722 125
7R 5

55)
27.94+63.95+13.08=?/2
1. 200

2.190

3.210

4. 240



5.225

Solution:

gm 28 + 64 + 13
7 ¥105 x 2

7% 210

Compound interest
Q.56

A sum of money becomes five times of itself in 16 years. Find the sum, if the same sum
invested on compound interest annually at same rate of interest for two years and
interest received was Rs. 720.

TS I 16 NF & TG &1 UTE A1 81 STt 81 I8 AR 1 HIfo, IS Tar iy i &) awf
%mwawmmﬁmﬁam@mwmmweﬂvw
STl 720 ¥ T

a. Rs. 1280
1280 %

b. Rs. 1440
1440 %

c. Rs. 1780
17802

d. Rs. 960
960 %

e. Rs. 1360
1360 %



Solution:
Let the sum be Es. P and rate of interest be R24.

ATQ,
PxREx16

(5P —P) ="
4'F :PKHXIE-

100
R = 25%
Now,

252 _
P [(1 +2) - 1] =720
Px— =720
16

P = Rs.1280

Boat and Stream

Q.57

A boat takes 10 hours to travel D km in upstream and 4 hours to travel the same
distance in downstream. If the speed of the stream is 6 kmph, then find D?

T 14 YRT & Uided D fH &1 a6 3 H 10 1< 3R YR & 3% JHH gdf 0 dR
o 4 92 HT 9T A 31 Afe o1 Y 71 6 foel) wfa ger 8, O D 71 wifoT

a. 160 km
160 foet

b. 90 km
90 fope

c. 96 km
06 ot

d. 80 km
80 e

e. 100 km
100 foHT



Solution:

Let speed of boat in still water be x kmph

ATQ
L — 10

x—6
D=10(x—6)——— — — (i)
And,

L _

x+6
D=4(x + 6) — — — —(ii)

From (i) and (ii)

10(x — 6) = 4(x + 6)

10x-60=4x+ 24

6x = 84

x = 14 kmph

So, required distance (D} = 10 % (14 — 6) = 80 km

Profit & loss

Q.58
Ritika bought a mobile at Rs. 18,000 after two successive discounts of 20% and 25% respectively. Find the

marked price of mobile?

T 3 HHR: 2006 3R 25% F1 & HEFG F & 915 18,000 TUA T TH HAlaTed BRIl AaRd &1 sifrd ged
Jrd B |

a. Rs. 30,000
30,000 %

b. Rs. 28,000
28,000 %

c. Rs. 36,000
36,000 %

d. Rs. 40,000
40,000 %

e. Rs. 24,000
24,000 @

Solution:
Equivalent discount percentage of two discounts of 2004 & 25%

— —ED + (_25] + (—:ﬂi;;—ZEF
= -40%

. . 18,000
So, marked price of mobile =

(100-40)

* 100 = Rs. 30,000




mensuration

Q.59
If area of a rectangle is 375 cm2 and the ratio of perimeter of the rectangle to its length
is 16 : 5, then find the breadth of the rectangle?

I3 U 3TId BT 8AHE 375 aFf QAT § 3R 3MId & URHTT 6T IYPH! dalg F U 16:5
g, 1 3Id B ASTS J1d BTl

a. 15cm

15 AT

b. 12cm

12 IH

c. 18cm

18 THT

d. 20cm
20 IHt

e. 25cm

25 A

Solution:Let length and breadth of the rectangle be | and b cm respectively.

ATQ
201+b) _ 18

1 5
10l + 10k = 16l

3l =5b
1 _ s

T
Let length and breadth of rectangle be 5x and 3x respectively.

5x X 3x = 375

x? =25

x=25

So, breadth of the rectangle = 15 cm

Percentages

Q.60
20% of (X + 2500) is equal to the 40% of (X + 900). Then find 50% of X?

(X + 2500) BT 20%, (X + 900) F 40% P SRTSR g | dl X BT 50% JTd HIfTL?



a. 250
b. 350
c. 400
d. 450
e. 150

Solution:

2% (X + 2500) == (X + 900)
lad 100

0.2X + 500 = 0.4X + 360

0.2X = 140

X =700

500 of X = —= % 700 =350

100

Number series

Direction( 61-74): What should come in place of the question mark
(?) in the following number series?

fFraar, Fafoiaa Twe gaar # Uy [ (2) & I W 31 3711 918U

61.6, 13.5, 30, 64.5, 135, 277.5, ?

564
560
578
572
562

PO TR

Solution:

The pattern of the series is:
6x2+15=135
13.5x2+3=30
30x2+45=64.5
64.5x2+6 =135



135 %2+ 7.5=277.5
277.5x2+9=564

62.

13, 91, 546, 2730, 10920, ?, 65520
a. 40280

b. 36210

c. 28820

d. 32760

e. 21840

Solution:
The pattern of the series is:

13x7=91

91 x 6 =546

546 x 5=2730
2730 x 4 =10920
10920 x 3 = 32760
32760 x 2 = 65520

13, 91, 546, 2730, 10920, 32760, 65520

63.6, 30, 180, ?, 5400, 27000, 162000
a. 900
b. 500
c. 800
d. 700
e. 600

Solution:



The pattern of the series is:

6x5=30

30 x 6 =180

180 x 5 =900

900 x 6 = 5400
5400 x 5= 27000
27000 x 6 = 162000

64.4, 9, 22, 53, 122, ?, 574
262
278
269
268
260

P20 TO

Solution:

The pattern of the series is:
4x2+1%2=9
9x2+22=22

22 x2+32=53

53 x2+42=122

122 x 2 + 52 =269

269 x 2 + 62 =574

65.1, 10, 58, ?, 716, 1436, 1444
a. 243
b. 230
c. 238
d. 236
e. 234

Solution:
The pattern of the series is:

1x6+22=10



10 x5+ 23=58
58 x 4 + 22 = 236
236 x 3+ 23=716
716 x 2 + 2?2 = 1436

1436 x 1 + 23 = 1444

Data Interpretation

Direction(66-71)

Read the Line graph given below carefully and answer the following questions.
The line graph given below shows the no. of people (Male + Female) who travel from
train in five different days.

230

FARN
0 /A\ 7—X
7 SN\ 7/ \
210 / ./ f \ -
e f/ ff LY o
- y N / _,f"f)(:
e 7 LN 7 — N
yd N\ Y
f/ \\ N !! \\.
170 3 N7
150
Monday Tuesday Wednesday Thursday Friday

==f==Train A ==Train B

66) What is the average no. of people who travels from train A on Monday, Wednesday
and Thursday?



a) 120
b) 200
c) 150
d) 180

e) 240

(66-71) - fow 7 g 7% ®) o @ ufen ok Fraferfad usi & sw kM|
e e o T T Ut S-S faAl H ¢ I A HhRA aT Afaddl (IoY + Afgae)
Eaksres ko ket

230

!A\
=0 X 7—X
Y A\ 7 AN
210 A 4 7 N\ -
o /,r \-{\ ff f_'__,.)(’
190 — Y Y A %
yd A Y
ff \\ - !f \\.
170 q 7
150
HIFHAR HaTeTd{ EMEICY AN, LA

66) AR, TUAR 3R TAR B ¢ A T T FHRA aTdl AfGadl Bt SNNId TS FT1 52

a) 120

b) 200



c) 150
d) 180
e) 240
Solution:

200+160+240

Required average = 3

=290 _ 300

67) No. of people traveled from train B on Tuesday and Wednesday together is what

percentage more/less than that by train A on Wednesday?

66 -0

L3 | ka

b) 4004
c) 2500

d) 15004

e) 75%

67) wHieER R §UIR D1 TP Y 7 B Y TE B dTel AR Bt WS JUAR Bl ¢
A X T A 10 SAfaaal ot TReT fasaet ufawra i / %9 872

(]

(<19

%

b. 4004
C. 25004

d. 150%4



o 75%

Solution:

. (220+180)—160
Required% = —————

160

¥ 100

=20 w100
150

150%

68) If the ratio of male and female who traveled from train A and Train B on Friday is

9: 8 and 8: 13 respectively, then find the difference between total male and female who
traveled on Friday.

a. 60
b. 20
c. O

d. 50

68) ufe YHaR B e A 3R 2 B A IR B dT0 TIY 3R HiRel BT S HHE: 9: 8
3R 8: 13 €, Al LHAR P T H ala Hof TN 3R AR & & 3fcR J1d Diford |

a. 60
b. 20
c. O

d. 50



Solution:
Total male who traveled on Friday

9 8
=—X170+—x 210 =90 + 80
17 +21 +

=170

Total female who traveled on Friday
= (170 — 90) + (210 — 80)

=80+ 130 =210

So, required difference = 210 — 170
= 40

69) Find the ratio between total no. of people traveled on Tuesday and that on Friday.

a. 45:34
b. 45:38
c. 45:37
d. 45:43

e. 45:44

69) wHieER @ TR BRA a1 AfRTA! 3R YehaR I TR BRA dla) ek b bl
3UTd 31d Bt |

a. 45:34
b. 45:38
c. 45:37
d. 45:43

e. 45:44



Solution:
230+220 ﬂ

Required ratio = =
1704210 380

= 45:38

70) What is the difference between the no. of people traveled from Train A and Train
B from Monday to Friday?

a. 10
b. 50
c. 30

d. 0

70) ImHaR Y YehaR T o1 A 3R ¢ B | TR A a1t Akl & s 3k T 82

c. 30



Solution:

No. of people traveled from Train A

= 200+ 230+ 160 + 240 + 170

= 1000

No. of people traveled from train B
=170+ 220 + 180 + 190 + 210

=970

So, required difference = 1000 — 970 = 30

71) If on Saturday no. of people traveled in Train B is increased by 30% from

Tuesday and that on Train A is decreased by 5% from Wednesday, then find the total
no. of people who traveled on Saturday.

a. 483
b. 453
c. 472
d. 437

e. 438

71) ofe IRaR &1 37 B | UE A dTel TR 1 RS HITCTAR B 31U 30% ¢

STl § SR I &7 S A T I11 A a1 Al B WS GUIAR BT 3UEH 5% HH g1 ol
2 @), TMaR & 37 g o7 a1d oo safedl &t e T1d Biferd|

a. 483

b. 453



c. 472
d. 437
e. 438

Solution:

In Train A = 160 X 5 =152

In train B = 220 X —2 = 286
100

So, required total = 152 + 286 = 438

Data Interpretation

Direction (72-74)

Study the following information carefully and answer the questions given
below,

The following table shows the total number of people who works in four different
places in two different years are given.

Places 2019 2020
Noida 320 450
Gurugram 360 420
Janakpuri 300 240
Ghaziabad 280 420

72) The number of people who work in Noida in 2020 is what percent less than the
number of people who work in Noida and Ghaziabad in 2019 together?

1

33-
a) 3 »

b) 2504

d) 5504



e) 40%

(72-74) FafIfEd TFEHR &1 @FYdS reaaT & 3R i f3w 7T gl & IR -
5 ITBT & SITT-31erT N § IR SIaT-SeRT VI IR B HRA ard anll bt Hdl
e exif g

=T 2019 2020
et 320 450
TR 360 420
RS 300 240
HUEEIEIE 280 420

72) 2020 ® ST H ST B AT AGIa! Dl BT, 2019 | TS 3R MiSararg #
T 1Y BT B ardl B T A fobd Ufa=id »H g2

1
33-
a) 3%

b) 25%
c) 35%
d) 55%
e) 40%

Solution:
The number of people who work in Noida in 2020 = 450

The number of people who work in Noida and
Ghaziabad in 2019 together = 320 4+ 280
= 600

Required % =

&600—450
600

® 100 = 25%



73) What is the difference between the sum of the number of people who work in
Gurugram and Janakpuri in 2019 together and the sum of number of people who
work in Ghaziabad and Janakpuri in 20207

a) 25
b) 28
c) 40
d) 5

e) None of these

73) 2019 T TTHUM 3R TSGR # &1 a1 aral safaaqal &1 e & T auT 2020 H
Mg 3R SHGYR § &1 e aTd dfaddl &1 T & O & o 37 3faR 872

a. 25
b. 28
c. 40

d. 5
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Solution:

The sum of the number of people who work in Gurugram and Janakpuri in 2019
together

= (360+300) = 660

The sum of number of people who work in Ghaziabad and Janakpuri in 2020 = (420
+240) = 660

Required difference = 660 - 660=0

74) Which work place shows maximum percentage increase in number of people
who work from 2019 to 2020?



a. Noida

b. Gurugram

c. Ghaziabad

d. Both Noida and Janakpuri

e. Both Ghaziabad and Noida

74) B 1 BT RIF 2019 ¥ 2020 IF H1E HA aTdl bt G& § Hf¥wan ufawrd gfa
T 872

a. dgsT

b. UM

c. TfS/RITETg

d. ST 3R SHHYRT g
e. TRSAETG 3R TSI GIHI




Solution:
The difference between the number of people who

work in Noida in 2019 and 2020

=130 (450- 320)

% increased = E * 100 = 40.625%

The difference between the number of people who
work in Gurugram in 2019 and 2020

= 60 (420—360)

% increased = % % 100 = 16.67%

The difference between the number of people who
work in Janakpuri in 2019 and 2020

=60 (300 —240)

% decreased = % * 100 = 20%

The difference between the number of people who
work in Ghaziabad in 2019 and 2020

= 140 (420-—280)

% increased %X 100 = 509

Ghaziabad shows the maximum % increased in the
number of people.

Data Interpretation

Direction (75 to 79) : Read the given data carefully and answer the following
guestions.

The data given below shows the no. of watches (Analog and Digital) sold by 5
shopkeepers.

Direction : feT T Se1 &) &H | ufeu iR Fufefad ust & I |
e o T St 5 gHMaRT g1 S 18 °fsdl (THanT 3R fforeen) ot e axifar 3|



Shopkeeper / Total watches sold / 3= Ratio of Analog
ERIRELR T et A=A watches to digital
watches sold / 3=T T2
b Rt
EHEEEEIEIEERCIE]
A 1200 9:7
B 1440 5:7
C 1650 6:5
D 1540 3:4
E 1360 7:13

75) Digital watches sold by shopkeeper A are what percentage of Analog watches sold
by shopkeeper B? . . .

75) GHIMGER A GRI a4t 718 fSfoTed afeal, gPhMaR B GRI a4l 718 TATANT gfed & fooeT
Tfa=d 87

a) 87.5%
b) 62.5%
c) 54%
d) 82.5%
e) 75%
Solution:
From the table data
Shopkeeper | Total sold | Sold no. of | Sold no. of
watches Analog Digital
watches watches
A 1200 675 525
B 1440 600 840
C 1650 Q00 750
D 1540 660 880
E 1360 476 864
Taotal 7190 3311 3879

Required percentage = % ¥ 100 = 87.5%



76) Which shopkeeper sold maximum no. of Digital watches.

76) {5y gHMER = Tad sifte fSforea afsar sl

a) B
b) E
c) D
d) BothBandE
GHIB SR E
e) BothDandE
GHID 3R E
Solution:
From the table data
Shopkeeper | Total sold | Sold no. of | Sold no. of
watches Analog Digital
watches watches
A 1200 675 525
B 1440 600 840
C 1650 900 750
D 1540 660 880
E 1360 476 884
Total 7190 3311 3879

Maximum no. of digital watches are sold by shopkeeper E. i.e. 884
77) Analog watches sold by shopkeeper D are what percentage more or less than
Digital watches sold by shopkeeper C.

77) SHMGR D gRI ! T3 TATANT 9fSar, ghMeR C gRI o4l T8 fSfofed afedl ¥ fardm
ufa=rg 3ifds AT HA |

a) 15%
b) 12.5%
c) 20%
d) 25%

e) 12%



Solution:

From the table data

Shopkeeper | Total sold | Sold no. of | Sold no. of

watches Analog Digital
watches watches

A 1200 675 525

B 1440 600 840

C 1650 900 750

D 1540 660 880

E 1360 476 584

Total 7190 3311 3879

Required percentage = 7507660 * 100

= 12%

78) Find the difference between total Analog watches and Digital watches sold by all

given shopkeepers.

78) Tt gHMER] gRT 9t T8 $d TAANT gfed iR feforea afsal & sta &1 iR I

750

EIIY
a) 423
b) 729
c) 671
d) 588
e) 568
Solution:
From the table data
Shopkeeper | Total sold | Sold no. of | Sold no. of
watches Analog Digital
watches watches
A 1200 675 525
B 1440 600 840
C 1650 900 750
D 1540 660 880
E 1360 476 584
Total 7190 3311 35879

Required difference = 3879 — 3311 = 568




79) Find the ratio of average Analog watches sold by shopkeeper B and C to Digital
watches sold by shopkeeper A.

79) GHFER B 3R C gRI 3} T3 3id TATANT °f$al &1 gHTER A GRT o4t 718 f3foted
giSal ¥ SIUTd I BTl
a) 7:10
b) 4:9
c) 4:7
d) 10:7
e) 7:9
Solution:
From the table data
Shopkeeper | Total sold | Sold no. of | Sold no. of
watches Analog Digital
watches watches
A 1200 675 525
B 1440 600 840
C 1650 a00 750
D 1540 660 860
E 1360 476 8684
Total 7190 3311 3879

Average Analog watches sold by

shopkeeper Band C =

. . 750
So, required ratio = — = —

225

10
7

a00+900

=750




Profit & loss

Q.80 A and B enter into a business by investing their sum in the ratio of 7 : 9
respectively. After seven months, B leaves the business and after four more months they
get a total profit of Rs. 6150. Find the profit share of B (in Rs.)?

67) A 3R B 3T T BT HHT: 79$a§mﬁﬁémmemwouqﬂ|qﬁmmﬁ%l
I TE1H & §1G, B T SIS ol § AR IR 31 TElA & 91¢ 3¢ $d 6150 TUY B
wuﬁw%mmwu%wwﬁ)ﬂﬁ?ﬁm|

a) 2767.5

b) 2735.5
c) 27275
d) 2797.5

e) None of these.
T A IS Ta1

Solution:
Let investment of A and B be 7x and 9x respectively

[A's profit) : (B's profit) = 7x = 11 : 9x = 7
=11:9
-~ B's profit share = % ¥ 6150 =Rs. 2767.5
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